
©  Playpower inc
hags@hags.com
www.hags.com

Rev: 0

30/06/25MASW76102

UniMini Sandboxes

151 /

UniMini Sandboxes 
MASW76102

SW81053

SW107497

SW76102



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 0

30/06/25MASW76102

UniMini Sandboxes

152 /

kg kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

x x

x

x

x

x

x

x

x

x

x

x

x

Wood

S37

1 SW75085 1279 x 180 x 562 2.60

2 SW75024 612 x 180 x 562 1.20

3 SW75158 1340 x 673 x 121 15.0

4 43-04915 46x46x40 mm12 0.10

5 SW61277 80x85x50 mm4 0.10

6 8039270 Screw, ISO8677-M6x20-8.812 0.01

7 8008566 Screw, ISO8677-M6x25-8.820 0.01

8 8008848 6.4x14x1.6-ISO4759-3-C32 0.01

9 8042808 Nut, ISO7042-M6-832 0.01

10 43-04810 Cap 6 Ø6,5x21 mm32 0.01

11 43-04811 Cover M6, Ø15x10mm32 0.01

12 43-07232 Ø6 16/7 x 3 mm16 0.01

13 8008651 TKFT-6x40-8.816 0.01

SW76102



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 0

30/06/25MASW76102

UniMini Sandboxes

153 /

kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

x

x

x

x

x

x

x

x

x

x

x

x

Wood

S37
2 SW75024 612 x 180 x 564 1.2

3 SW78502 673 x 673 x 121 7.4

4 43-04915 46x46x40 mm8 0.1

5 SW61277 80x85x50 mm4 0.1

6 8039270 Screw, ISO8677-M6x20-8.88 0.008

7 8008566 Screw, ISO8677-M6x25-8.816 0.009

8 8008848 6.4x14x1.6-ISO4759-3-C24 0.002

9 8042808 Nut, ISO7042-M6-824 0.003

10 43-04810 Cap 6 Ø6,5x21 mm24 0.00

11 43-04811 Cover M6, Ø15x10mm24 0.00

12 43-07232 Ø6 16/7 x 3 mm16 0.00

13 8008651 TKFT-6x40-8.816 0.01

SW81053



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 0

30/06/25MASW76102

UniMini Sandboxes

154 /

kg kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

x x

x

x

x

x

x

x

x

x

x

x

x

Wood

S37

1 SW75085 1279 x 180 x 562 2.6

2 SW107496 612 x 180 x 562 1.0

3 SW75158 1340 x 673 x 121 15.0

4 43-04915 46x46x40 mm12 0.1

5 SW61277 80x85x50 mm4 0.1

6 8039270 Screw, ISO8677-M6x20-8.812 0.008

7 8008566 Screw, ISO8677-M6x25-8.820 0.009

8 8008848 6.4x14x1.6-ISO4759-3-C28 0.002

9 8042808 Nut, ISO7042-M6-832 0.003

10 43-04810 Cap 6 Ø6,5x21 mm32 0.00

11 43-04811 Cover M6, Ø15x10mm32 0.00

12 43-07232 Ø6 16/7 x 3 mm16 0.00

13 8008651 TKFT-6x40-8.816 0.01

SW107497



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 0

30/06/25MASW76102

UniMini Sandboxes

155 /

5

7

10

8

9

11

SW76102
SW107497

SW81053



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 0

30/06/25MASW76102

UniMini Sandboxes

156 /

3
2

1

1

2

3

2

1

1

2

3

2 2

2 2

4

6

7

10

8

9

11

SW76102 SW107497

SW81053



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 0

30/06/25MASW76102

UniMini Sandboxes

157 /

0,0

0,0

0,0

Wood

S37

0,
23

m
 - 

0,
51

m

0,
23

m
 - 

0,
51

m

0,
23

m
 - 

0,
51

m

SW76102

SW107497

SW81053



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 0

30/06/25MASW76102

UniMini Sandboxes

158 /

Wood

S37

12
x16

x16
13

SW76102

SW107497

SW81053

x4



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 0

30/06/25MASW76102

UniMini Sandboxes

159 /

kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

x

x

x

x

x

x

x

x

x

x

x

x

Steel

S38
1 SW75085 1279 x 180 x 562 2.6

2 SW75024 612 x 180 x 562 1.2

3 SW75158 1340 x 673 x 561 15.0

4 43-04915 46x46x40 mm12 0.1

5 SW61277 80x85x50 mm4 0.1

6 8039270 Screw, ISO8677-M6x20-8.812 0.008

7 8008566 Screw, ISO8677-M6x25-8.820 0.009

8 8008848 6.4x14x1.6-ISO4759-3-C32 0.002

9 8042808 Nut, ISO7042-M6-832 0.003

10 43-04810 Cap 6 Ø6,5x21 mm32 0.00

11 43-04811 Cover M6, Ø15x10mm32 0.00

12 8008902 Blind rivet, MagnaLok-MGLP-R8-E 
(2-16)16 0.0

SW76102



kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

x

x

x

x

x

x

x

x

x

x

x

©  Playpower inc
hags@hags.com
www.hags.com

Rev: 0

30/06/25MASW76102

UniMini Sandboxes

1510 /

Steel

S38
2 SW75024 612 x 180 x 564 1.2

3 SW78502 673 x 673 x 121 7.4

4 43-04915 46x46x40 mm8 0.1

5 SW61277 80x85x50 mm4 0.1

6 8039270 Screw, ISO8677-M6x20-8.88 0.008

7 8008566 Screw, ISO8677-M6x25-8.816 0.009

8 8008848 6.4x14x1.6-ISO4759-3-C24 0.002

9 8042808 Nut, ISO7042-M6-824 0.003

10 43-04810 Cap 6 Ø6,5x21 mm24 0.00

11 43-04811 Cover M6, Ø15x10mm24 0.00

12 8008902
Blind rivet, MagnaLok-MGLP-R8-E 
(2-16)16 0.0

SW81053



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 0

30/06/25MASW76102

UniMini Sandboxes

1511 /

kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

kg

x

x

x

x

x

x

x

x

x

x

x

x

Steel

S38
1 SW75085 1279 x 180 x 562 2.6

2 SW107496 612 x 180 x 562 1.0

3 SW75158 1340 x 673 x 121 15.0

4 43-04915 46x46x40 mm12 0.1

5 SW61277 80x85x50 mm4 0.1

6 8039270 Screw, ISO8677-M6x20-8.812 0.008

7 8008566 Screw, ISO8677-M6x25-8.820 0.009

8 8008848 6.4x14x1.6-ISO4759-3-C28 0.002

9 8042808 Nut, ISO7042-M6-832 0.003

10 43-04810 Cap 6 Ø6,5x21 mm32 0.00

11 43-04811 Cover M6, Ø15x10mm32 0.00

12 8008902 Blind rivet, MagnaLok-MGLP-R8-E 
(2-16)16 0.0

SW107497



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 0

30/06/25MASW76102

UniMini Sandboxes

1512 /

5

7

10

8

9

11

SW76102
SW107497

SW81053



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 0

30/06/25MASW76102

UniMini Sandboxes

1513 /

3
2

1

1

2

3

2

1

1

2

3

2 2

2 2

4

6

7

10

8

9

11

SW76102 SW107497

SW81053



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 0

30/06/25MASW76102

UniMini Sandboxes

1514 /

0,0

0,0

0,0

Steel

S38

SW76102

SW81053

SW107497

0,
23

m
 - 

0,
51

m

0,
23

m
 - 

0,
51

m
0,

23
m

 - 
0,

51
m



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 0

30/06/25MASW76102

UniMini Sandboxes

1515 /

Steel

S38

12
x16

x4

SW76102
SW107497

SW81053

mm

S10

Ø 6,5


